g S =R R G B A— T — )]
Bt R+ BE+HERAELR))

S F54E3 A
L fil j{ i 2% L /AJ;@MH% N /AJ:*”Z% %A@ PN N RITAE 7] H 1H PO R 65
A—T]— EI(1§% (2) %(S;EH B (4) K {%;3 )f) 3 (6) K Fﬁ(jéf)$ (%O%Sf T S%(B) [A/B %/ &% (C) |#F (D) | C/D%
K= 4 25 938 142 902 30 2,037 2,143 95.1 4,219 4,437 95.1
A H 155 2 353 2 512 575 89.0 1,081 1,112 97.2
H g 4 2 259 56 227 6 554 624 88.8 1,148 1,216 94.4
VA 114 13 44 1 172 157 109.6 362 342 1058
AR 13 1 170 2 186 182 102.2 352 331 106.3
SUBARU 1 280 20 301 295  102.0 660 598 110.4
HAINY 32 32 21 152.4 59 59|  100.0
=7 1 76 5 32 1 3 118 104 1135 232 216 1074
AN 55 2 47 28 132 125 105.6 289 295 98.0
EE5; 33 8 11 21 73 68| 107.4 155 141 109.9
ZHESTD 50 4 36 12 102 82| 1244 190 159 1195
UDKZ 77 A 14 1 4 19 20 95.0 48 39| 123.1
& D [E] PE 3 1 4 13 21 29 72.4 52 73 71.2
i) A H 14 236 14 38 3 305 338 90.2 622 651 95.5
&t (E) 200 16 2,072 328 1,818 0 114 16 4,564 4,763 95.8 9,469 9,669 97.9
ATAER A 5 (F) 219 13 2,067 296 2,047 95 26 4,763
Mt E/F % 91.3 123.1 100.2 110.8 88.8 120.0 61.5 95.8
A A (G) 135 7 1,215 180 1,027 44 11 2,619
Wt E/G%| 14841 228.6 170.5 182.2 177.0 259.1 145.5 174.3
LA DD BE (1) 475 27 4,316 680 3,728 192 51 9,469
ARG (1) 464 27 4,297 632 4,000 179 70 9,669
F e H/T% 102.4 100.0 100.4 107.6 93.2 107.3 72.9 97.9




